Name Date
6. Look at the abacus that Leonardo 1000s  100s 10s 1s
used to show 95 in the problem | n
95 - 37.

A. How many tens and how many
ones does the abacus show?

B. Write a number sentence for what
the abacus shows.

M C X I
7. Look at the way Leonardo made 10008 1005 108 s
trades on the abacus. n A
A. How many tens and how many
ones does the abacus show now?
B. Does the abacus still show a
number that is equal to 957
Tell how you know.
V V V
M C X I

C. Write a number sentence for what the abacus shows.

D. Show Leonardo how to use counting up to solve 95 — 37.
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